20224 —/N h—T < A X — KKK RS
HIH : 20224E10H7H (&) ~10H9H (H)

248 BRI NS T — 1 (25m)

1/3
No.30 EBF 100mEk =
< 90~94%% > wRRE 150 0
I R B : e
-Ll ST Pt B REFR . 7K B EHE M #Eesk (R.T)
5 B I Gll&HR 1/ 1 2:34.05 ( 1.14)
1:06. 69 '
No.30 BBF 100mEik=E R :
iCE% 1:31.
£ 80~84E > Efggg }:31.;;
(oA AT B F kes B R %3 SRR 1:47.86
; : ECE% -
I AR R K 1/ 7 2:08.586 ERl 013
58. 36 '
No. 30 BF 100miEjk = R :
ECE% 1:25. 11
& 15~798% > BARH 12007
IBhL B4 FE =T = =&l 143.25
I \% #p K% ?# R (R.T)
E RS C 1/ 4 1:32.80 - k&% ( 0.92)
43. 87 '
No. 30 BF 100m¥Ejk = e :
By 4 1:13.
L 10~T74m% > B AR 1520.33
B K4 A B BATH KEE B R HEE R s
| WE B e BT 1/ 5 1:39.24 Co.
2 Ik T S | "
H ;ZBI\WE%% 1/ 6 1:57.22 ( 0.88)
No. 30 BF 100mEx|F #RE -
& 65608 > a5k 16 o
IBhL K% A . . REH 128. 62
gl g MEER o kE B MRS (R.T)
ZQIN K o Bk 1/3 1:41.60 ( 0.93)
48. 64 '
No.30 BF 100mEK = #RE :
ECER 1:09.5
&£ 60~64% > A4k 1513.52
B K& A AT KEE B R HEE AR R
1 E e F—HA R 1/ 2 1:40.00 ( 0.93)
N - 46. 97 '
2 EFH FHl Blls C 2/ 1 1:40.01 ( 0.73)
48. 00 '
No. 30 BF 100m¥Ejk = R :
iLE% 1:04.
& 55~5H9m% > B AR 1307.%?
B EE A BBATH KEE B R HEE R R
1 /NP R 5Ty A 9/ 4 1:08.86 - K2H ( 0.67)
o HhE 2 32. 07 07
= i igslglsm 2/ 2 1:35.04 ( 0.80)
No. 30 BF 100mEx|FE #RE -
& 50~54%% > R 1;8;‘_122
Ight K& A R Kes B R #ES mEs TR
1 2% KRFREA o) I AR 3/ 5 1:17501 R R
. 36.97 ' ( 0.69)
2 kA =4 J S SMl& 3/ 4 1:17.42 (0.8
3 sy 87.27 ' 82
= ALt jgﬁwmi@ 2/ 3 1:30.33 [45IE (33)] ( 0.92)
HAOHME: 10H8H 16:17



20224 —/N h—T < A X — KKK RS
HIH : 20224E10H7H (&) ~10H9H (H)

a7 —u (25m)

2/3

No.30 BF 100mEx}= wHREHE  1:04.28

& 50~54% > 5 B

B K4 A R RE T KB B R HER (R. T)

4 PR —ER 2bFI1SH 2/ 6 1:31.36 ( 0.71)
43.58

5 {efi ¥ Jb o« BBl 2/ 7 1:33.31 ( 0.81)
43. 82

No.30 BF 100m=Ek = ARG 1:02.22

& 45~498% > Rl 10500

B K% R K BRI HEs (R.T)

1 IR il SB%IIST 3/ 3 1:19.54 ( 0.66)

o LW 7 AQUAMIE  3/6 1:27.40 ( 0.81)
42.15

No. 30 EBEF 100mEx = WRREGE 10142

& A0~845 > Rl 10

B K4 B BR R JK & B M FEcEk (R.T)

1 AR KIr JSSSHLRT 4/ 3  1:15.11 ( 0.97)
35.54

2 Ki& BR F—LAZ 3/ 2 1:21.40 ( 0.75)
37. 85

3 ARl 12/11225 C 3/ 7 1:25.72 ( 0.86)

No. 30 EBF 100m¥Ex =¥ HRESE  1:00.21

& 35~39% > aREn 0®

[[=Fiva J::E% FTEREFR K& B B #Ecex (R.T)

1 I8 B 2T 4 UEDE 4/ 4 1:06.50 - K&H ( 0.69)
31.37

2 5T B o) IR 4/ 5 1:08. 86 ( 0.75)
33.24

3 0 KR ggoc‘:is 4/ 2 1:10.50 ( 0.57)

4 K% Fith Fx A 4/ 6 1:18.03 ( 0.78)
36. 48

5 A Fokd OSP 4/ 1 1:25.26 ( 0.71)
39. 60

No. 30 BEF 100m¥Ex = HRESE  59.10

& 30~34% > AR 1005

B K4 FrERR AR 7K B fE FEcEk (R.T)

1 [UH J S SRk 5/ 4 1:01.91 - k& ( 0.70)
29.12

2 WA ® RS 5/ 6 1:07.59 ( 0.72)
32.45

3 ARKT B R RS 5/ 5 1:08.54 ( 0.63)
31.94

4 (= FHK R FT 5/°3 1:10.18 ( 0.65)
33.27

5 1k HE MEDSWIM 5/2 1:11.09 ( 0.72)
34. 25

6 EE fEA RS 5/ 1 1:19.51 ( 0.93)
37.40

HAOHME: 10H8H 16:17



20224 —/N h—T < A X — KKK RS
HIH : 20224E10H7H (&) ~10H9H (H) =3 N

N
=
=S|
St
<+

WA 7 — L (25m)

3/3

No. 30 BF 100mEjk = HRESE 5814

& 25~298% > R 1:05.04

B K4 A R RE T KB B R HER (R. T)

1 B &= RS 6/ 6 1:06.79 ( 0.66)
31. 16

2 HH Siy iéfﬁ 6/ 7 1:12.10 ( 0.65)

3 Kl; &% ggqinM 5/ 7 1:13.88 ( 0.69)

No. 30 B2F 100mEk = BRER

< 18~24% > Al e

I 4 A R K B R wERS (R. T)

1 A kB g KIS ASC 6/ 3 1:05.57 ( 0.66)
30. 25

2 B K— g%CiiS 6/ 5 1:06.20 (0.71)

3 ek &N A ~=m 6/ 2 1:08.13 ( 0.63)
32.09

4 B9 (& KM SASC 6/ 4 1:08.49 ( 0.72)
32.58

5 FF E ekt %I?BDC 6/ 1 1:12.84 ( 0.70)

HAOHME: 10H8H 16:17



